[T(4th Sm. )-Botany-G/GE/cc-zx/CBcs]

2021

BOTANY — GENERAL
Paper : GE/CC-4
(Plant Physiology and Metabolism)
Full Marks : 50

Candidates are required to give their answers in their own words
as far as practicable.
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[T(4th Sm. )-Botany—G/GE/CC—4/CBCS] (2)

[English Version]

The figures in the margin indicate full marks.

1. Answer any five questions : 2x5
(a) What is ‘nod’ gene?
(b) What do you mean by xylem cavitation?
(c) Differentiate nucleotide and nucleoside.
(d) What do you mean by phloem loading?
(e) Name one gaseous plant hormone.
(f) What do you mean by senescence?
(g) What do you mean by apical dominance?

(h) Mention the name of one long day plant and one short day plant.

2. Answer any two of the following questions : 5x2
(a) Classify enzymes according to ‘TUBMB’.
(b) Describe the mechanism of ascent of sap.

(c) Write a note on role of phytochrome in flowering.

3. Answer any three of the following :

(a) Explain the mechanism of opening and closing of stomata. Write the significance of transpiration.

7+3
(b) Schematically represent the steps of TCA cycle. Why Krebs cycle is also called as TCA cycle?
8+2
(c) Discuss mass flow hypothesis of phloem transport. What is source-sink relationship? 7+3

(d) Mention the reactions in C4 photosynthetic pathway. What are the significances of CAM?  6+4
(e) Mention the physiological roles of cytokinin and ethylene in plants. 5+5




